CHAPTER 12

30 MCQ questions

1) There are many approaches and methods involved in the fields of language and thinking. But which of the following statements is NOT correct?

a) An information processing approach to thought and language essentially asks by what processes we can accomplish the tasks of thinking and using language. 

b) The psychology of thinking is concerned with inference, while the study of language is not.

c) Cross-cultural and cross-linguistic comparisons provide rich data about the nature of what language is.

d) The information processing approach has to be applied in order to understand how language actually works.

2) Language gives us the capacity to let others know things and do things that would otherwise be impossible. Which of the following is also true about language?

a) Language enables us to share knowledge and ideas, and to extend our spheres of influence beyond the immediate.

b) Written language is the most basic form.

c) The majority of cultures have not yet developed written language systems.

d) None of the above.

3) It is conventional to divide up issues of language under the headings syntax, semantics and pragmatics. But which of the following does NOT apply to syntax?

a) Syntax is the set of rules or principles that govern word order, and which words can be combined with which. 

b) The rules and principles of syntax are key to the grammar of a language.

c) In a sense, the rules of syntax reflect the way the brain analyses language. 

d) An example of a syntax rule, in English, is that a sentence consists of a noun phrase plus an adverb phrase.

4) Which of the following statements about semantics is FALSE?

a) Semantics concerns aspects of meaning. 

b) The meaning of a sentence is assembled from the meanings of the individual words that make up the sentence. 

c) Meaning at the sentence level is vital for comprehension. 

d) Syntax is not vital for comprehension.

5) Select the INCORRECT statement with regard to pragmatics:

a) Pragmatics concerns the set of rules or principles that govern word order. 

b) Semantics is also known as sentence meaning, and pragmatics as speaker meaning. 

c) Pragmatics concerns the interpretation of an utterance.

d) The introduction of pragmatics is essential to any account of language processing, and is especially obvious in cases where semantics appear to fall short. 

6) Which of the following is NOT true in relation to comprehension of language?

a) Comprehension of language requires the processor to use syntax, semantics, scripts and pragmatics. 

b) How and when different sources of information are called upon is a relevant issue for the language-understanding system. 

c) How the architecture of the system is organized is not a relevant question for our understanding of the language system. 

d) Word-sense retrieval and the processing of non-literal meaning represent two relevant issues in the comprehension of language.

7) When reading or listening, it is important to retrieve word meaning, and that means retrieving the right sense of a word. Which of the following can we also say about word-sense retrieval?

a) In word-meaning retrieval, the role of background knowledge is important. 

b) Context usually causes problems of ambiguity in speech.

c) Both (a) and (b).

d) Neither (a) nor (b).

8) Which is NOT the case? The interactive view of word-sense retrieval:

a) Suggests that the retrieval of word-meaning information is connected to other processes of comprehension.

b) States that which aspects of word meaning are active depends on context. 

c) Is attractive because it implies a very adaptive organization of knowledge and word meaning.

d) Means reduced computational complexity. 

9) Which TWO of the following statements about the phenomenon of priming are correct?

a) Priming is an important technique for finding the answer to the mechanisms underlying word-meaning retrieval. 

b) When a word is read, it becomes easier to recognize words that are associated with it. 

c) If you read the word ‘nurse’, you will then read the word ‘doctor’ more slowly than if you had just read an unrelated word, such as ‘bread’.

d) After reading the word ‘bank’, if there is no biasing context, then target words relating to just one sense should be primed, e.g. ‘river’.

10) Which TWO of the following statements are correct, in relation to how we understand sentences?

a) One explanation of how we understand all sentences is that we initially assign a metaphorical meaning to them and then integrate this into the meaning of the discourse.

b) The literal meaning of an utterance may not make any sense, especially if the sentence conveys an indirect speech act or a metaphor. 

c) Empirical data shows that metaphors are always first interpreted literally, then, if this fails, they are interpreted as non-literal, or figurative. 

d) Glucksberg & Keysar (1990) argue that we derive a literal interpretation of the utterance and assess the interpretability of that interpretation against the context of that utterance. 

11) Identify the TWO INCORRECT statements about Gibbs’ 1979 and 1983 experiments:

a) Gibbs (1979) showed that people take longer to process indirect requests than to understand literal uses of the same expressions. 

b) Gibbs’ 1979 data suggested that people do not need to obtain a literal meaning of an expression first in order to comprehend an indirect speech act.

c) Gibbs’ (1979) findings run against the traditional language interpretation model.

d) Gibbs (1983) found that, when the context biased the interpretation of the critical sentence towards a non-literal interpretation, there was priming of the literal interpretation. 

12) One of the major pieces of research on metaphor comprehension was carried out by Glucksberg, Gildea and Bookin in 1982. Which of the following statements about their work is true?

a) They asked participants to decide whether simple statements were literally true or false. 

b) They claimed that the statement ‘Some desks are junkyards’ is literally false.

c) They found that a statement with an obvious figurative interpretation takes longer to reject as literally false than does a sentence with no obvious figurative meaning.

d) All of the above. 

13) Which of the following statements are correct when we think about discourse? (Please highlight all correct answers.)

a) A collection of any set of sentences is a discourse.

b) A substantial part of the psychology of language deals with discourse processing. 

c) The primary feature of discourse is that it is coherent. 

d) Sometimes sentences are connected by explicit devices, called ‘structural markers’.

14) One the following does NOT apply to the sentence: “John fell off the cliff because he was walking too near the edge”. Which is it?

a) There are two cohesion markers.

b) The connective ‘was’ indicates that the sentence ‘John fell off the cliff’ portrays the result of a cause – i.e. ‘he was walking too near the edge’. 

c) The pronoun ‘he’ signals that some individual who is singular and male has been mentioned.

d) We take it that it was ‘John’ who ‘was walking near the edge’. 

15) Highlight the INCORRECT observation about the sentences: “John was hit by a train. He had been walking down the track”:

a) This is coherent because ‘walking down the track’ was the condition that enabled ‘John’ to be ‘hit by a train’. 

b) There is an explicit causal connector in this sentence. 

c) Coherence establishment may sometimes make use of cues in the text.

d) Coherence establishment always relies on some degree of inference.

16) Identify all correct statements about the sentence: “John lent Harry some money because he was hard up”:

a) The referent of ‘he’ is most likely ‘John’.

b) Because money is lent to people who are ‘hard up’, an inference can be automatically drawn from this sentence. 

c) Because money is lent to people who are ‘hard up’, an inference cannot be used to solve the reference problem.

d) If we removed the connective ‘because’, thus making the one sentence into two, we would not be able to solve the referent of ‘He’.

17) One of the following assertions about inferences is ERRONEOUS – which is it?

a) Experimental work shows that inferences are made so quickly that we cannot measure the time they take. 

b) Haviland and Clark (1974) asked people to read short texts made up of two sentences, and then measured the reading times for the second sentences. 

c) If the text demands that an inference be made, this demands cognitive resources.

d) Sometimes knowledge may be automatically recovered and included in the mental representation of the sentence. 

18) Theorists have many conflicting opinions on the ‘ultimate questions’ in discourse studies – and some statements about these can be found below. But which are true? (Please highlight all true answers.)

a) For discourse studies, the ultimate questions are just which inferences are made (i.e. what knowledge is recruited) and when during language processing. 

b) Some theorists believe that sometimes there might not be much inferential activity taking place during natural discourse and that inferences and elaborations will only take place when the relevant background knowledge is highly available in memory. 

c) Sanford and Garrod (1998) take the view that it is the task of the writer or speaker to say things in such a way that a scenario can easily be found, because this is essential for good message-level interpretation. 

d) Whatever they think about component processes, there would be few scientists who would reason that understanding is based on bringing language input into contact with world knowledge.

19) Are any of the four activities below NOT part of the reading process? If so, please highlight which one.

a) Fixating words with our eyes.

b) Involuntary blinking. 

c) Representing the meaning of what is read.

d) Using our implicit knowledge of syntax.

20) Which of the following is true when it comes to eye fixation?

a) The eye goes through very smooth movements when we read. 

b) Small words are not always fixated, whereas larger words are nearly always fixated. 

c) When someone has difficulty comprehending a piece of text, ‘progressive’ eye movements take place.

d) Word information can be encoded while the eye is moving.

21) Which of the following statements about aphasia is FALSE?

a) The term ‘aphasia’ is commonly used for all types of language loss.

b) Strokes affecting those parts of the brain that support language processing account for the majority of aphasia cases.

d) Damage to the left hemisphere of the brain is likely to result in language dysfunction.

d) Broca’s area is the only area of the brain associated with specific aphasic symptoms. 

22) Which of the assertions given below about dyslexia is true?

a) Dyslexia refers simply to reading problems in certain children that may continue into later life.

b) The main difference between acquired and developmental dyslexia is that acquired dyslexia can result from brain damage in people who could previously read well, whereas developmental dyslexia refers to a developmental difficulty with reading, despite adequate intelligence. 

c) In deep dyslexia, people can read words perfectly well but they don’t know what they mean.

d) Most developmental dyslexics have excellent phonological awareness, so they perform well on tests of rhyme awareness, segmenting words into individual sounds (spelling out) and producing rhymes.

23) Which of the following statements about thinking is FALSE?

a) The study of thinking concerns how we come to understand the world, what our intuitions are, and how we reason, solve problems and make judgements and decisions about things.

b) The cognitive approach to thinking attempts to discover the processing activities that characterize these mental acts. 

c) Experimental studies of thinking have been almost all about logical deduction. 

d) The most striking thing to emerge from the study of thinking is that, as a species, although we can solve some amazingly difficult problems, we can also fail on others that seem quite simple.

24) Two main strands have coexisted in the study of thinking for many years: problem-solving and reasoning. Which of the assertions below do we know to be the case?

a) Problem-solving is concerned only with how people understand stories.

b) Reasoning has been almost completely concerned with what conclusions people draw, logical or otherwise, on the basis of knowledge and evidence. 

c) Both (a) and (b).

d) Neither (a) nor (b).

25) Newell and Simon (1972) collected ‘speak-aloud protocols’, requiring people to say aloud what they were doing while they were attempting problems. But which of the following is NOT true of their research?

a) Newell and Simon’s methodology helped them to analyse in detail the steps people go through in problem-solving.

b) Newell and Simon found that: (1) people set up initial representations of problems, which influence the search space, and (2) people employed general purpose techniques, called heuristics, which helped to constrain the search space.

c) According to Newell and Simon, people set up initial representations of problems which influence the search space.

d) According to Newell and Simon, people employ only very specific techniques suitable only for the task at hand to help to constrain the search space. 

26) A classic study of how underlying common structure might be spotted was carried out by Gick and Holyoak (1980; 1983). They examined how experience with a puzzle called the ‘military problem’ (Holyoak, 1984) affected performance on a second problem, called the ‘radiation problem’ (Duncker, 1945). But which of the following is NOT true of their research?

a) Gick and Holyoak had participants undertake the military problem first. 

b) One group of participants read the military problem in the belief that they were simply to recall the wording; under those circumstances, only 30 per cent derived the correct solution to the radiation problem. 

c) If the participants were given two similar problems before the radiation problem, then there was less transfer. 

d) In general, the more superficially similar problems are, the better the transfer.

27) Which of the following are accurate statements about logical and conditional reasoning? (Please highlight all correct answers.)

a) Logical reasoning tasks deal exclusively with ‘if–then’ statements, e.g. if a green light comes on, then the ball has rolled left.

b) In a syllogistic reasoning task, two premises will always enable specific conclusions to be drawn.

c) In conditional reasoning tasks, people are required to draw conclusions that necessarily follow from a given, but not to draw conclusions about what might possibly follow. 

d) None of the above. 
28) Which TWO of the following statements are correct in relation to heuristic reasoning?

a) Heuristic reasoning means exhaustively exploring all aspects of a problem you are trying to solve.

b) Heuristic reasoning is a rare characteristic in people.

c) Availability is a method of estimating the likelihood of something based on how easily it comes to mind. 

d) The representativeness heuristic is based on the principle that we can estimate the likelihood of something by seeing how well it fits a prototype of which it may be an exemplar. 

29) Heuristics provide a means of reasoning, using strategies that generally work but are not guaranteed to work. But which, if any, of the following is true of intuition?

a) Heuristic reasoning and intuition are completely unrelated.

b) The mappings from the description of a problem to an automatic conception of that problem can be very strong. 

c) The ‘Three Cups Problem’ is a good illustration of not-so-strong mapping between a state of affairs and a pre-existing mental model.

d) None of the above.

30) Which is true? In the hindsight bias:

a) People had a prior insight but do not realize it until after the event.

b) People think they had a prior insight and that an event was therefore unsurprising. 

c) A typical experiment involves people believing they got fewer questions right than they actually did.

d) A major consequence is that things appear to be less obvious than they actually were.

